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RURAL DEVELOPMENT
( General )

Course : 201
({ Rural Economy of India )

Full Marks : 80
Pass Marks : 32

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. TR 2PEEA Teq fordn/om Tesr IR Sfeea -
1x8=8
Answer the following questions/Choose the
correct answer :

(@) SRS Yo WPRIN FqM *Fore 2/ wweere
I FR?

What percentage of total population of
India reside in rural area?

(b) A SI-FR 46T o1 QRFR T B

Mention one occupation of rural
non-farm sector.
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(c) SRS @ E-AME ARemare IR
Remre sanfees fran (zfee 2

In which Five-Year Plan of India priority
was given on agricultural development?

(i) 229 *1=-3RE i wmn
First Five-Year Plan

(ii) TO/ A%-AMT ARFw=n
Third Five-Year Plan

(iii) AT -G AT
Seventh Five-Year Plan

(iv) @9 AL-qRF “AfFwm

Ninth Five-Year Plan

(d) SFTo T @Gl SRed PRI SE
Pl Jfad PR T 2

Which of the following is not a reason of
income disparity of people of India?
(i) oIt GrRam
Excessive growth of population
(i) wTS
Corruption
(i) M9 SR
Lack of resources

(iv) =n%fERe (aarer
Regional disparities
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(e) SPTC JRETS TEAR IGE A4F S@IA <O
TrEd 41|

Mention one main obstacle of marketing
of agricultural commodities in Assam.

(H SR e wgel e fSfee Ry w1 =9

What is the basis of poverty
determination in our country?

(i & it
Per capita income
(i) &R ST 99
Per capita consumption expenditure
(iit) FrFIOR TS
Literacy rate
(iv) FEREE AR
Employment opportunity

() Wﬁacﬁ%ﬁﬁﬁ@%ﬂméﬁ%aﬁﬁ

Green Revolution in India increased the
production of

(i) CSEHIOT XK
oilseed crops
(i) A PR
food crops
(iii) STEETS *PR
pulses crops
(iv) 7w
milk
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(h) & 49 @bl SR S 7 for |

Name one non-institutional source of
rural credit.

2. e frl R e viRbR eo/s w3 Gt fora (aifdht
100 ¥ f5o0) : 4x4=16

Write short notes on any four of the following
(within 100 words each) :

(@) ST g B

Muga silk of Assam

(b) 2 HEETS JLAAR PR

Role of traders in rural areas

(c) = e

Disguised unemployment

(d) SIPRES M 9@= At

Procedure of formation of self-help group

(e) IR TR TR

Reasons for agricultural backwardness
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oo PR e s (aifeht 500 *¥< Se99) :

Answer the following questions (within 500 words

each) :
3. (@)
(b)
4. (a)
(b)
5. (a)

14P—400/1008

o SEIPReE FRAER IR T ARY 4SS

o A o e | 8+3=11

Explain  the  causes of rural
backwardness. Give suggestions for the
development of rural sector.

w211/ Or

IR 493 AW SRS S <K
goferr o |

Describe the contribution of non-farm
sector to the rural economy.

SR oS Serlfte gy PP <Al i |

Describe the main crops grown in our
country.
§q1/ Or

oy SdAfee FoR Rise gl SeEeT 41 |

Discuss the role of cottage industries in
rural economy.

s Rl IR SRR A
Describe the reasons for unemployment
problem in rural area.
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(6)

2T/ Or

(b) SIS AGH A WG TR SR e w4
G Tl 41 |

Describe the programmes implemented
under the National Rural Health Mission
in Assam.

6. (a) AW ARE FARIT AR NI ASS (ol
QiR 3 el | @R i R St
TEFECNE, G BCZ ? 8+4=12 |
Describe the programmes undertaken by |
the Government for empowerment of
rural  women. Why  are these

programmes experiencing limited
success?
H3<1/ Or
(b) &1 east {2 TS T2 ST IV A Fems
ffvosss wivfg SRiwl s w311 SivRReR 5
IS AW NI oA 7+5=12

Explain the role of Mahatma Gandhi
National Rural Employment Guarantee
Scheme in generating rural employment.
Suggest measures for  successful
implementation of the scheme.
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7. (o) SReR Teg-odirEe T P [RPE e
o ST 4T | 11

Discuss the prospects of development of
horticultural crops in North-East region
of India.

g2&r/ Or

(b) o e AR @R SR TR Rl
STl

Discuss the role of Gramin Bank in rural
development.
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